	Kaneohe Watershed Storm Water Best Management Practices on HWY-O-04-14M Oahu Koolaupoko N/A Internet Posting May 23, 2014 June 26, 2014	** NOTE: Qu	GLOBAL SPECIALTY CONTRACTORS, INC.		PROMETHEUS CONSTRUCTION		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION		
COMPLETION TIME:	One Hundred Twenty (120) Working Days	in this colum house u **APPROX.							
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
206.0100	H-3 & LIKELIKE INTERCHANGE Excavation for Drainage Structures	1,338	CY	* \$120.00	\$160,560.00	\$200.00	\$267,600.00	\$40.00	\$53,520.00
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$52,000.00	LS	\$70,000.00	LS	\$30,000.00
209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00
212.0100	Archaelogical Monitoring Services	FA	FA	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000.00
304.0100	Aggregate Base Course	82	CY	\$310.00	\$25,420.00	\$200.00	\$16,400.00	\$60.00	\$4,920.00
503.0100	Concrete Settling Basin	31	CY	LS	\$61,000.00	LS	\$600,000.00	LS	\$15,000.00
603.0100	24-inch Reinforced Concrete Pipe, Class III or 24-inch HDPE Pipe,	70	LF	\$190.00	\$13,300.00	\$500.00	\$35,000.00	\$75.00	\$5,250.00
603.0200	18-inch Reinforced Concrete Pipe, Class III or 18-inch HDPE Pipe,	23	LF	\$200.00	\$4,600.00	\$400.00	\$9,200.00	\$70.00	\$1,610.00
604.0100	Type 1A-9 Grated Drop Inlet, 3 feet to 5 feet	1	EA	\$13,000.00	\$13,000.00	\$25,000.00	\$25,000.00	\$20,000.00	\$20,000.00
605.0100	6-Inch Underdrain	224	LF	\$92.00	\$20,608.00	\$300.00	\$67,200.00	\$20.00	\$4,480.00
605.0200	Underdrain Outlet	1	EA	\$480.00	\$480.00	\$1,000.00	\$1,000.00	\$300.00	\$300.00
605.0300	Cleanout	4	EA	\$900.00	\$3,600.00	\$400.00	\$1,600.00	\$250.00	\$1,000.00
611.0100	Hand-Laid Riprap	88	CY	\$400.00	\$35,200.00	\$250.00	\$22,000.00	\$350.00	\$30,800.00
617.0100	Imported Planting Soil	8	CY	\$140.00	\$1,120.00	\$250.00	\$2,000.00	\$60.00	\$480.00
618.0100	Soil Preparation	755	SY	\$6.00	\$4,530.00	\$30.00	\$22,650.00	\$45.00	\$33,975.00
618.0200	Imported Compost	75	CY	\$52.00	\$3,900.00	\$200.00	\$15,000.00	\$45.00	\$3,380.00
619.0100	Carex (Carex wahuensis, 6" Pots)	945	EA	\$9.00	\$8,505.00	\$20.00	\$18,900.00	\$7.50	\$7,087.50
	1			L	1			Shoot No. 1 of 6	

Sheet No. 1 of 6 Sheets

		7		***************************************															
PROJECT NO.: ISLAND:	Kaneohe Watershed Storm Water Best Management Practices on HWY-O-04-14M Oahu Koolaupoko									STATE OF HAWAII									
NET LENGTH:	N/A				GLOBAL SPECIALTY		ETHEUS	DEPARTMENT OF											
DATE ADVERTISED:	Internet Posting May 23, 2014			CONTRACTORS, INC.		C. CONSTRUCTION		TION TRANSPORTA HIGHWAYS DIV											
BID OPENED:	June 26, 2014																		
COMPLETION TIME:	One Hundred Twenty (120) Working Days	in this colum house u																	
ITEM NO.	ITEM	**APPROX. QUANTITY	LIMITO	LINUT DDICE	ANACHINIT	LINUT DDIOE	ANACHINIT	LINIT DDIOE	ANACHINT										
619.0200	Uki (Cladium jamaicense, 6" Pots)	1,400	UNITS EA	UNIT PRICE \$8.00	AMOUNT \$11,200.00	UNIT PRICE \$20.00	\$28,000.00	UNIT PRICE \$7.50	\$10,500.00										
619.0300	Illie'e (Plumbago zeylanica, 1 Gal.)	3,625	EA	\$6.00	\$21,750.00	\$25.00	\$90,625.00	\$10.75	\$38,968.75										
641.0100	Hydro-Mulch Seeding	580	SY	\$5.00	\$2,900.00	\$50.00	\$29,000.00	\$160.00	\$92,800.00										
643.0100	Maintenance of Existing Landscape Areas	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00										
645.0100	Traffic Control	LS	LS	LS	\$80,000.00	LS	\$70,000.00	LS	\$20,000.00										
645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00										
648.0100	Field-Posted Drawings	LS	LS	LS	\$1,500.00	LS	\$1,000.00	LS	\$5,000.00										
680.0100	Coarse Sand	10	CY	\$225.00	\$2,250.00	\$200.00	\$2,000.00	\$75.00	\$750.00										
699.0100	Mobilization (Not to Exceed 6% of the Sum of All Items (H-3 and Likelike Interchange) Excluding the Bid Price of this Item) SUM OF ITEMS FOR H-3 & LIKELIKE INTERCHANGE	LS	LS	\$34,000.00	\$34,000.00 \$631,423.00	\$70,000.00	\$70,000.00 \$1,534,175.00		\$20,000.00 \$469,821.25										
	GOW OF THEMOTORY TO WERKE HATERONIANOE				φοστ, 120.00		Ψ1,004,170.00	######################################	Ψ-103,021.20										
209.0100	INTERCHANGE ROUTE H-3, PID 207 Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$33,000.00	LS	\$70,000.00	LS	\$25,000.00										
209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00										
503.0100	Concrete Structures, Inlet Retrofit	2	EA	LS	\$12,000.00	LS	\$26,000.00	LS	\$50,000.00										
603.0100	Cleaning Existing Culverts	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00										
641.0100	Hydro-Mulch Seeding	1,580	SY	\$7.00	\$11,060.00	\$50.00	\$79,000.00	\$160.00	\$252,800.00										
643.0100	Maintenance of Existing Landscape Areas	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00										
645.0100	Traffic Control	LS	LS	LS	\$200,000.00	LS	\$70,000.00	LS Sheet No. 2 of 6.9	\$20,000.00										

Sheet No. 2 of 6 Sheets

				PARTICLE PROPERTY AND ADDRESS OF THE PARTY O					
PROJECT NO.: ISLAND:	Kaneohe Watershed Storm Water Best Management Practices on HWY-O-04-14M Oahu Koolaupoko							STATE OF HAWAII	
NET LENGTH:	N/A				SPECIALTY		ETHEUS	DEPARTMENT OF	
DATE ADVERTISED:	Internet Posting May 23, 2014			CONTRACTORS, INC.		CONST	RUCTION		ORTATION S DIVISION
BID OPENED:	June 26, 2014								
COMPLETION TIME:	One Hundred Twenty (120) Working Days	** NOTE: Quantities shown in this column are for inhouse use only.							
ITEM NO.	ITEM	**APPROX. QUANTITY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	Additional Police Officers, Additional Traffic Control Devices, and	QUANTITY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	ANIOUNT
645.0200	Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
648.0100	Field-Posted Drawings	LS	LS	LS	\$1,500.00	LS	\$1,000.00	LS	\$5,000.00
682.0100	Storm Water Treatment System (Type 2) - Filter Baskets	3	EA	\$5,400.00	\$16,200.00	\$5,000.00	\$15,000.00	\$3,000.00	\$9,000.00
682.0200	Maintenance of Storm Water Treatment System (Type 2) - Filter	12	Month	\$6,500.00	\$78,000.00	\$1,000.00	\$12,000.00	\$1,200.00	\$14,400.00
683.0100	Vegetated Wall	1,580	SY	\$230.00	\$363,400.00	\$150.00	\$237,000.00	\$40.50	\$63,990.00
699.0100	Mobilization (Not to Exceed 6% of the Sum of All Items (PID 207) Excluding the Bid Price of this Item)	LS	LS	LS	\$45,000.00	LS	\$30,000.00		\$15,000.00
	SUM OF ITEMS FOR INTERCHANGE ROUTE H-3, PID 207		overspecies on her select over the state of a state of the select		\$820,160.00		\$600,000.00	ACCORDINATION OF CONTRACTOR CONTR	\$515,190.00
	INTERCHANGE ROUTE H-3, PID 208								
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$18,000.00	LS	\$70,000.00	LS	\$10,000.00
209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00
641.0100	Hydro-Mulch Seeding	450	SY	\$16.00	\$7,200.00	\$50.00	\$22,500.00	\$160.00	\$72,000.00
643.0100	Maintenance of Existing Landscape Areas	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
645.0100	Traffic Control	LS	LS	LS	\$5,000.00	LS	\$70,000.00	LS	\$15,000.00
645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
648.0100	Field-Posted Drawings	LS	LS	LS	\$1,500.00	LS	\$1,000.00	LS	\$5,000.00
683.0100	Vegetated Wall	450	SY	\$240.00	\$108,000.00	\$150.00	\$67,500.00	\$40.50	\$18,225.00
699.0100	Mobilization (Not to Exceed 6% of the Sum of All Items (PID 208) Excluding the Bid Price of this Item)	LS	LS	LS	\$4,628.76	LS	\$13,000.00		\$4,500.00
	SUM OF ITEMS FOR INTERCHANGE ROUTE H-3, PID 208				\$184,328.76		\$284,000.00		\$164,725.00

Sheet No. 3 of 6 Sheets

PROJECT: PROJECT NO.: ISLAND: DISTRICT:	Kaneohe Watershed Storm Water Best Management Practices on HWY-O-04-14M Oahu Koolaupoko					PROMETHEUS CONSTRUCTION		STATE OF HAWAII													
NET LENGTH:	N/A				SPECIALTY STORS, INC.			DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION													
DATE ADVERTISED:	Internet Posting May 23, 2014			CONTRAC	TORS, INC.																
BID OPENED:	June 26, 2014																				
COMPLETION TIME:	One Hundred Twenty (120) Working Days	** NOTE: Quality in this column house u	n are for in-																er en		
ITEM NO.	ITEM	**APPROX. QUANTITY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT												
ITENTINO.	INTERCHANGE ROUTE H-3, PID 209	QUANTITY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AIVIOUNT	UNIT PRICE	AMOUNT												
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$17,000.00	LS	\$70,000.00	LS	\$15,000.00												
209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00												
641.0100	Hydro-Mulch Seeding	3,030	SY	\$7.00	\$21,210.00	\$50.00	\$151,500.00	\$160.00	\$484,800.00												
643.0100	Maintenance of Existing Landscape Areas	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00												
645.0100	Traffic Control	LS	LS	LS	\$5,000.00	LS	\$70,000.00	LS	\$20,000.00												
645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00												
648.0100	Field-Posted Drawings	LS	LS	LS	\$1,500.00	LS	\$1,000.00	LS	\$5,000.00												
659.0100	Erosion Control Matting	3,030	SY	\$265.00	\$802,950.00	* \$150.00	\$454,500.00	\$50.00	\$151,500.00												
699.0100	Mobilization (Not to Exceed 6% of the Sum of All Items (PID 209) Excluding the Bid Price of this Item) SUM OF ITEMS FOR INTERCHANGE ROUTE H-3, PID 209	LS	LS	LS	\$50,000.00 \$937,660.00	LS	\$40,000.00 \$827,000.00	AND DESCRIPTION OF THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAMED IN COLUM	\$12,500.00 \$728,800.00												
				MARKET PARTIES DE MENTE AUTORIO DE LA COMPANIO DE	Mittourn describens et escribens et escribens de la mentación de accessor de la companya de la c	nne din e comita con e etale en epopolision e epopolision de en electricis de establica de en electricis de en	emikis yazasis barkerinin yanga kisana caran matunyan cum		NEXT PROPERTY OF THE PROPERTY												
209.0100	INTERCHANGE ROUTE H-3, PID 210 Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$25,000.00	LS	\$70,000.00	LS	\$30,000.00												
209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00												
503.0100	Concrete Structures, Inlet Retrofit	LS	LS	LS	\$2,000.00	LS	\$30,000.00	LS	\$30,000.00												
603.0100	Cleaning Existing Culverts	FA	, FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00												
641.0100	Hydro-Mulch Seeding	1,506	SY	\$8.00	\$12,048.00	\$50.00	\$75,300.00	\$160.00	\$240,960.00												
643.0100	Maintenance of Existing Landscape Areas	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00												
645.0100	Traffic Control	LS	LS	LS	\$6,500.00	LS	\$70,000.00	LS Short No. 4 of 6	\$15,000.00												

Sheet No. 4 of 6 Sheets

PROJECT NO.: ISLAND:	Kaneohe Watershed Storm Water Best Management Practices on HWY-O-04-14M Oahu Koolaupoko					PROMETHEUS CONSTRUCTION		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION	
NET LENGTH:	N/A			2022/2020/2020/1020/2020/2020/2020/2020	SPECIALTY				
DATE ADVERTISED:	Internet Posting May 23, 2014			CONTRAC	CTORS, INC.				S DIVISION
BID OPENED:	June 26, 2014								
COMPLETION TIME:	One Hundred Twenty (120) Working Days	** NOTE: Qua in this colum house us	n are for in-						
1751110		**APPROX.				LINIT DDIGE			
ITEM NO.	Additional Police Officers, Additional Traffic Control Devices, and	QUANTITY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
645.0200	Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
648.0100	Field-Posted Drawings	LS	LS	LS	\$1,500.00	LS	\$1,000.00	LS	\$5,000.00
682.0100	Storm Water Treatment System (Type 2) - Filter Baskets	5	EA	\$5,400.00	\$27,000.00	\$5,000.00	\$25,000.00	\$3,000.00	\$15,000.00
682.0200	Maintenance of Storm Water Treatment System (Type 2) - Filter	12	Month	\$8,500.00	\$102,000.00	\$1,000.00	\$12,000.00	\$2,000.00	\$24,000.00
683.0100	Vegetated Wall	1,506	SY	\$220.00	\$331,320.00	\$150.00	\$225,900.00	\$40.50	\$60,993.00
699.0100	Mobilization (Not to Exceed 6% of the Sum of All Items (PID 210) Excluding the Bid Price of this Item)	LS	LS	LS	\$30,000.00	LS	\$27,000.00	LS	\$11,000.00
	SUM OF ITEMS FOR INTERCHANGE ROUTE H-3, PID 210				\$582,368.00		\$581,200.00		\$476,953.00
	KAMEHAMEHA HIGHWAY, PID 1008	1							
206.0100	Excavation for Drainage Structures	500	CY	\$85.00	\$42,500.00	\$200.00	\$100,000.00	\$300.00	\$150,000.00
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$20,000.00	LS	\$70,000.00	LS	\$30,000.00
209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00
304.0100	Aggregate Base Course	98	CY	\$260.00	\$25,480.00	\$200.00	\$19,600.00	\$60.00	\$5,880.00
603.0100	Cleaning Existing Culverts	FA	FA	FA	\$2,500.00	FA	\$2,500.00	FA	\$2,500.00
641.0100	Hydro-Mulch Seeding	500	SY	\$15.00	\$7,500.00	\$50.00	\$25,000.00	\$160.00	\$80,000.00
643.0100	Maintenance of Existing Landscape Areas	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
645.0100	Traffic Control	LS	LS	LS	\$6,500.00	LS	\$70,000.00	LS	\$20,000.00
645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
648.0100	Field-Posted Drawings	LS	LS	LS	\$1,500.00	LS	\$1,000.00	LS Shoot No. 5 of 6	\$5,000.00

Sheet No. 5 of 6 Sheets

		T	·····					****			
PROJECT: PROJECT NO.: ISLAND: DISTRICT:	Kaneohe Watershed Storm Water Best Management Practices on HWY-O-04-14M Oahu Koolaupoko					PROMETHEUS CONSTRUCTION		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION			
NET LENGTH:	N/A			GLOBAL S	PECIALTY TORS, INC.						
DATE ADVERTISED:	Internet Posting May 23, 2014			CONTRAC	TORO, INC.				'S DIVISION		
BID OPENED:	June 26, 2014		OKANELIA ALIA ALIANDO O MARIANTA								
COMPLETION TIME:	One Hundred Twenty (120) Working Days	in this colum house u	NOTE: Quantities shown n this column are for in- house use only.								
		**APPROX.									
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT		
681.0100	Storm Water Treatment System (Type 1) - Baffle Box		EA	\$250,000.00	\$250,000.00	\$490,000.00	\$490,000.00	\$150,000.00	\$150,000.00		
681.0200	Maintenance of Storm Water Treatment System (Type 1) - Baffle Box	12	Month	\$8,500.00	\$102,000.00	\$1,000.00	\$12,000.00	\$1,000.00	\$12,000.00		
682.0100	Storm Water Treatment System (Type 2) - Filter Baskets	2	EA	\$5,400.00	\$10,800.00	\$5,000.00	\$10,000.00	\$3,000.00	\$6,000.00		
682.0200	Maintenance of Storm Water Treatment System (Type 2) - Filter Baskets	12	Month	\$8,500.00	\$102,000.00	\$1,000.00	\$12,000.00	\$500.00	\$6,000.00		
683.0100	Vegetated Wall	500	SY	\$230.00	\$115,000.00	\$150.00	\$75,000.00	\$40.50	\$20,250.00		
694.0100	Project Sign	LS	LS	LS	\$5,000.00	LS	\$1,000.00	LS	\$5,000.00		
696.0100	Maintenance of Trailers	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00		
696.0200	Field Office Trailer (Not to Exceed \$32,000.00)	LS	LS	LS	\$32,000.00	LS	\$1,000.00	LS	\$30,000.00		
699.0100	Mobilization (Not to Exceed 6% of the Sum of All Items (PID 1008) Excluding the Bid Price of this Item)	LS	LS	LS	\$400.00	LS	\$40,000.00	LS	\$18,000.00		
	SUM OF ITEMS FOR KAMEHAMEHA HIGHWAY, PID 1008			Committee of the Commit	\$768,180.00		\$974,100.00		\$585,630.00		
							0.000.475.00		20.044.440.05		
	Sum of All Items				\$3,924,119.76		\$4,800,475.00		\$2,941,119.25		
	Hawaii Products Preference				\$18,300.00		\$0.00		\$0.00		
	Apprenticeship Agreement Preference				\$196,205.99		\$240,023.75		\$0.00		
	Amount for Comparison of Bids				\$3,709,613.77		\$4,560,451.25		\$2,941,119.25		
				* Global Specia		* Prometheus C	Construction:				
				back calculate	d for unit price	659.01 back for unit price	calculated				
	Project Manager: Christine Yamasaki Date: July 1, 2014										
								Sheet No. 6 of 6	Chaota		